Aluminum Arch Pull

+ ®
UARF 7rz7-sm-= uran
A -
= T :
=
p =
I ‘ H () I 3
H‘ -‘,l'r
Lt
L M
o ELVLVWZ—FRIRDE-F, Hhhls1 S,
o KIKMTEIFIEV P I VEARIKTT .
® BERKEIIEN DEILVDPHELIA T,
o REMEBD/NUI—aVIE5EH. RBOKRESLSICKY
BIRTEFY,
*RES RENE
AL 7L A MLE
BL NUIVIREE
BK BERE (DDHLE)
SG BHERE (DPLHELYILN-)
RD BERE (DPHLLYR)
o A Y3V TR DIFTAEDINATUYFTERILES (SUSXM7 &)
Z2ARMMELE T, RURBT—ER (BIRE) ZZFIALE
RIAN
o HE -+ kIF O rotis
UARF-AL UARF-BL UARF-BK / UARF-SG / UARF-RD
4k FILEZOLEE FIVEZOLESE FIEZOLEE
7L A MLE NUIVERES HERE(S8)
FETUTERILS
) SUSXM7 SUSXM7 SUSXM7
BTt mm
= : HrEmES = RUREY—EZR
mE A L1 H h L Lf min. M Tl;\le)ﬁ BEE(g) 19[3252‘
UARF-20-160 20 160 50 37 185 8 M6 1000 106 M6X10
UARF-20-192 20 192 |50 37 221 8 M6 1000 123 M6x10
UARF-26-160 26 160 57 40 190 11 M8 1000 195 M8X12
UARF-26-192 26 192 57 40 227 11 M8 1000 220 M8X12
*1: ADFTHEMATIHBFTECTT,
o BFEIETE IS - MHEAINBK T T T A hETEL LT,
UARF-20-160-RD
\ \
UARF-20-160-RD-P
\ \ —
RUATE
H—E2
RUMEBY—EZ (BIEE) 2CHA0SEEE. BRRSE0KRRC[P]ZEN
LT rRE,
™ IU—Vkig - JU—ViRa 4 L—5ZIEn
BELEhELREN S - Bl

N\ NBK @#E/r17y021 0575-23-1162 info@nbk1560.com https://www.nbk1560.com



